cdot m "W [1/GeV?]

-
<
D

|
o
&

T

dLO-IIU
o {p"

1
d3d
S

Ratio to ATLAS

[EEY

0.5

13000 GeV pp

pf"’” (ATLAS ttbar)

m ATLAS
~o-- Pythia 6.428 390
--H-- Pythia 6.428 391
-~ Pythia 6.428 392
-~ -~ Pythia 6.428 396
& Pythia 6.428 397
___v-_\mtha 6.428 398

N
8
N
AN

N
>
O

SN

N R Q\; .
A
YW\,
YW
AN
N
%\
g
NN
O
\\
~
N
2 ~
\\1{:
W~
& {\\\\\\
SR
N t\
N

. 17,
Y’
A3

%

&
* 77,
A

L1 1 ||||| L1
Rivet 3.1.10, = 3.1M events

mcplots.cern.ch [arXiv:1306.3436]

T L - ‘:__::—————:i N

_ —0.5
! | o o -

0 500 1000



	Contents
	Page 1


